Which of the following would increase the oscillation frequency of a mass
on an ideal spring:

A) Increasing the mass
B) Increasing the spring constant

C) Increasing the initial displacement
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D) Both Aand C
) Both Aan 3.30-5:00

E) Both Band C
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x@) = Acos(wt+d)
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For the displacement graph shown, what is the phase ¢?
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For the displacement graph shown, what is the phase ¢?
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For the displacement graph shown, what is the phase ¢?
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X(t) = ACOS (wt+o)
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For the displacement graph shown, what is the phase ¢?
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For the displacement graph shown, what is the maximum
magnitude of velocity, in cm/s?

A) 4 B) 2 C) 1 D) 1/2 F) 1/4
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Simple Harmonic Motion:
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A plot of upward acceleration (in
cm/s) as a function of time (in s) is
shown above for a mass hanging
from a spring. Which of the pictures
to the right could represent x(t)?
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The graphs show acceleration as a function of time for two different

harmonic oscillators. The amplitude of the displacement in the first case is
1cm. For the second oscillator, the amplitude of the displacement is

A) 4cm B) 2cm C) 1cm D) 0.5cm E) 0.25 cm
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